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SUPER SHRIES - TOP15 GLESTIONS

Directions: In each of the following questions a
sentence is given with four words given in bold.
Which of the following words should replace each
other to form a meaningful and grammatically
correct sentence. The meaning can be different

from the one in question.




SPER SHRIES - TOP15 QLESTIONS

I. There was a comparatively unravel (A) atmosphere of
cordiality (B) than they would be in Parliament.

II. Hans has written an indispensible (C) guide that
describes how we can use systems thinking and
computers to congenial (D) the quagmire (E) of flawed

country studies.

1. A-D only

2. B-E only

3. Both C-E and A-B
4. Both A-D and B-E
5. None of these



SPER SHRIES - TOP15 QLESTIONS

The razzmatazz for toilet construction/ODF certification has
overshadowed (A) the fact that the essence (B) of universal
water and sanitation coverage 1s derived (C) from the right

to life, guaranteed (D) by Article 21 of the Constitution.

1. Both A-D and B-C
2. Only A-B
3. Only B-C
4. Both A-B and C-D

5. No rearrangement required



SPER SHRIES - TOP15 QLESTIONS

Under tremendous trying (A) from the media and the Congress to
take some action against Saudi Arabia, after the sudden
disappearance (B) of Saudi dissident and journalist Jamal
Khashoggi in Turkey, Mr. Trump told reporters that he is pressure
(C) to get at the bottom of the 1ssue and has sought details (D) of

it from Saudi Arabia.

1. Both A-D and B-C
2. Both A-C and B-D
3. Only A-C

4. Both A-B and C-D

5. No rearrangement required



SPER SHRIES - TOP15 QLESTIONS

The money would be used for (A) developing cutting-edge
technologies for high-power, high (B) repetition rate lasers,
high quality optical (C) components and state-of-the-art

electronics and (D) software.

1. B-C
2. A-C and B-D
3. A-Band C-D
4. C-D

5. No rearrangement required



SPER SHRIES - TOP15 QLESTIONS

Hedonism, as Socrates minimize (A) it, 1s the motivation
wherein a person will described (B) 1n a manner that will

maximize pleasure and behave (C) pain.

1. BAC
2. BCA
3. CAB
4. CBA

5. No rearrangement required



SLPER SERIES - TOP15 GLESTIONS

Unwritten history 1s not easy to attitude (A), and, although
much may be learned from a study of the drawings, bony
remains, and surgical(B) tools of early humans, 1t 1s difficult
to reconstruct(C) their mental interpret(D) toward the

problems of disease and death.

1. Only A-D
2. Both A-C and B-D
3. Only B-D
4. Both A-B and C-D

5. No arrangement required



SLPER SERIES - TOP15 GLESTIONS

As leisured (A) grain husbandry developed, surpluses
stratification(B) the development of advanced
non-agricultural occupations, division of labour, social
fostered(C), including the rise of a efficient(D) upper class,

and urbanisation.

1. Only A-D
2. Both A-D and B-C
3. Only B-D
4. Both A-B and C-D

5. No arrangement required



SLPER SERIES - TOP15 GLESTIONS

The data 1s from the Behavioral Risk Factor (P)survey
System, a (Q)surveillance conducted by the CDC and state
health departments adults were considered to have
(R)obesity 1f their body mass index was at least 30, based on

self-reported (S) measurements of height and weight.

1. Both P-R and Q-S
2. Only P-Q
3. Only P-S
4. Both P-Q and R-S

5. No rearrangement is required.



SLPER SERIES - TOP15 GLESTIONS

There's a (P)profound serenity found in escaping the hustle
and bustle of city life to immerse oneself in the (Q)babbling
of nature, where the rustling leaves, (R)tranquility brooks,
and vibrant wildlife create a (S)symphony of natural

wonders.

1. Both P-R and Q-S
2. Only R-Q

3. Only P-S

4. Both P-Q and R-S

5. No rearrangement is required.



SLPER SERIES - TOP15 GLESTIONS

A (P)significant challenge lies ahead for India to achieve
one of the Sustainable Development Goals 2030:
(Q)eradicating hunger 1n all its forms the report suggests
that this goal might be (R)unattainable, projecting that

nearly 600 million people could still be (S)facing hunger in
2030.

1. Both P-R and Q-S
2. Only R-Q

3. Only P-S

4. Both P-QQ and R-S

5. No rearrangement is required.



SLPER SERIES - TOP15 GLESTIONS

Dreams are the (P)ethereal playgrounds of our
(Q)subconscious, where imagination takes flight, and
the boundaries of reality (R)blur, inviting us to explore the

limitless (S)possibilities of our minds.

1. Both P-R and Q-S
2. Only R-Q
3. Only P-S
4. Both P-QQ and R-S

5. No rearrangement is required.



SLPER SERIES - TOP15 GLESTIONS

Embarking on an adventure, whether 1t involves
(P)traversing rugged terrains, (Q)conquering
personal fears, or embarking on a creative journey,
can be a (R)vitality experience that adds depth and

(S)transformative to our life stories.

1. Both P-R and Q-S
2. Only R-Q
3. Only R-S
4. Both P-Q and R-S

5. No rearrangement is required.



SLPER SERIES - TOP15 GLESTIONS

As the grand clock 1n the town square chimed its (P)music tune,
signaling the start of the annual summer festival, a vibrant (Q)tapestry
of colors unfolded before my eyes, with children laughing and playing
games, vendors selling an (R)array of delicious treats, and the sound
of live (S)melodic filling the air, creating an atmosphere of joy and

celebration that brought the entire community together.

1. Both P-R and Q-S
2. Only R-Q

3. Only P-S

4. Both P-Q and R-S

5. No rearrangement is required.



SLPER SERIES - TOP15 GLESTIONS

Directions: Six words are highlighted which may or
may not be in the correct position.

Out of the given options choose the one in which the
correct order is represented.

If the sentence is correct mark option E “No

replacement required” as your answer.




a) Apportioning blame for storm(A) after a natural disaster 1s
almost impossible, but Indian cities have intensify(B) tried
to ease this decision, and Chennai on December 4 was no

calamity(C).

b) Late on December 3, rains began to exception(P) Chennai as
Cyclone Michaung, soon to often(Q) into a super-cyclonic

pummel(R), parked itself roughly 100 km east of the city.

1. CPRQBA
2. CQPRBA
3. CPQBCA
4. CRQPBA

5. No replacement required



a) The narratives built around disasters influence the responses to them, and
pedestrians(A) that intensified(B) a singularity to a natural calamity often
feed an unfair line of proclamations(C) in which nature shoulders all the
blame.

b) Just as the rain precaution(P) over Chennai on December 4 morning, the
Tamil Nadu Generation and Distribution Corporation Limited shut off
power 1n the city as a attribute(Q), presumably to prevent loose cables

from electrocuting reasoning(R) in dirty water.

1. CPRQBA
2. CQARBP
3. CQRBPA
4. CRQBPA

5. No replacement required



SPER SHRIES - TOP15 QLESTIONS




